Algebra1  Bellwork  Monday, May 11, 2015 ANSW E:/’Z>
Round decimal answers to the nearest hundredth. J
1. Use the Discriminant to determine the number of real solutions to each Quadratic Equation.
a)y=4x2+3x+11,m b) y=7x*-21x-5, . c¢) y=18x*—-48x+32 1 Zeaf

b*-Yac= ~/(7 ,QEA(Z&?L b Ygcz 541 '7‘156@,-(4 h=Yae=0O Saol
2. An object is shot into the air with an initial velocity of 120 ft/sec from an initial height of 25 feet.
The following equation models the height as a function of time: x(f) = —16¢2 + 120t + 25
a) Will it ever reach a height of 175 feet? If yes, how many times. y s

175 = ottt Hwt+ 5™ = O ~/bt* +lwt - IS5o b*Yac = HO 745, 'Hvﬁc‘5

b) Will it ever reach a height of 300 feet? If yes, how many times.
300 = Ikt Hiok 425 5 o= —Gtt 20t —215 b -lacs o NO
c) Will it ever reach a height of 250 feet? If yes, how many times.
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250 = Tt +1t +255— O = —bt“H 120t - 228 b Ve =0 Y*?S, ONE 7/

d) Will it ever reach a height of 15 feet? If yes, how many times. _ i (wtax o)
\6:_ —1(41614_120_1_'__7'. »’:’j"’ - O = '““'Q:‘-L—_Lh;l?c{*_ e b —(,OCP /17/0L{O \/1/5, 07,:.&—;
e) When will it hit the ground? rod (T o
O = —lt™ r1ukt 425 b?i\"c/c\—.; | & ,000 t= =g -0,20;'_171.10\
3. Solve this Quadratic Equation by Factoring: 40x? + 52x = 12 @’S(ﬂ
HYoyz +52%x-12.=0 4 xoyﬁp%x-%} =D —_—
4. Graph this Quadratic Function using at least five points. y = —2x2—-8x—3 \
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5. Solve this Quadratic Equation using Square Roots: 5x2-19 =x2+14 Uyr-19 = / C/T
v- T S - ~¥E ~y g F
X = Z) g 7 L3
L—{/k( = 3> &
6. Simplify this square root: J/38¢ | 5= b
Gi-bo = S{\(a, VY :!33/7

~ 7. Find each to the nearest hundredth.

a) J47 b) —/182
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